jusexamprep.com

Which one of the following is NOT
matched ?
(a) Ashfaqullah Khan - xnwcag

‘e syndrome results due to

7. At flgm fsein gzum % s B & 7

Xl\gﬂﬂ (b) w5z
Ay e

(b} Phosphate

Robbery Ca: :
(b) Khudiram Bose - Assembly : : Puranas, the five | g frefufigs # & fia qom #, qovi % dieit s
Calet atics of the Puranas are mentioned 7 *1 ooy e 2 2
(<) mrrzwhn Usmani Eﬁﬁ.ﬂi i . : ; (a) Vayu (b) Matsya (a) 779 (b) e
& mﬂ.—vv.l £ i M’Oﬁlﬂ“tg .. b (¢) Vaman (d) Vishnu () AT ; j
Case ? 9. Match List ~ | with List ~ Il and select the |7 :
of i Aw—oA MM”_.“M”__E.:zin_. from the code given below . uqnmn_m” %ﬂt““&ﬁx”g i
ecuritylindex, 2021 > List - 1 List - 11 - 1 -0
K s o () 83 (Blue Flag Certified (Location) (%7 A s (zeafEnfa)
. (d) 62 : Beach) uﬂ_;v.v\
? ~ 1 with List - II and s P SRckge. pn giehs. A. sirgen 1. v e p’
% rades |
AR SRy’ using the oods E . B. Kasarkod 2. Kerala B. SawhiE 2. ¥ m,
List - IT C. Kappad 3. Karnataka C. %973 3. wizw
'y D. Rushikonda 4. Diu D. st 4. & 3
il Code : Lo «A
A BEECIND 27 le o *
(a) 3 4 2 1 (a) 3 4 2 1
(bid (31 AR —fd 3 .3 1
' ()] < g, 2 ©4 3 . 2
~ (d) 3 e OIS 3 7 4 TR

10. The provision for Anti Defection Act

10. gw?wgmwi%m
is mentioned in which of the following

Schedules of the Constitution of India ? Ta-wee éﬂ ﬁw\
(@) 110 Jlb) 12t (a) 11 ®) 124
Anw gth : ) 10th

© oF drfodt

11." Baltic Republics do NOT include which of

: 11, wifces Rt § Reffes § 3 @9 ot
the following ? '
1. Denmark
2% E.ﬂod.ﬁ : n., AR
3. Finland \
: 3. feets _
4. Latvia %
K Select the correct answer :Bﬂm go code SRS
| given below : : 9 A ™ g2 | v swoEA
Code : L E
(a) 2 and 3 (b) 2and 4 (a) 2 3 3 (b) 234

(c) 1 and 2

(@) land3W, (© 132 %aﬁ
&H
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,T.mlﬂwl I

~m. With reference 1o N
52021, which of the
i8/are correct »

1. It wag celebrated on
2021,

It's theme was

ational Ayurveda Day
?::i.:x staterment

23" October,

2.

‘Ayurveda for Poshan’.
MM“MM\» _"—5 correct answer from the code given
Code :
BERRRFLh 1 and 2 (1) Neiher § ner 3
~ (€) 1 only

(d) 2 only

ith reference

; to Delhi Sultanate consider
the following st

atements,

1. Sultangarhi was built by Sultan Htutmish,
2. Located in Delhj

, it is the first tomb
built by Turks,
Select the correct answer

using the code
given below :

Code :
(a) Both 1 and 2 (b) Neither 1 nor 2
(c) O,..__% 1 (d) Only 2

19. What was the theme of the 40t Indian

j nternational Trade Fair held in November,
20212

£ mmm”,, Vocal for Local

* {b) Atmanirbhar Bharat

“(e) Is of Doing Business

Aﬁ_& None of the above

0, Which of the following Article makes
provision that “the law declared by the
Supreme Court shall be binding on all the
Courts within the territory of India” ?

(a) Article 142 (b) Article 143
~ (c) Article 140 (d) Article 141

. Which of the following App is introduced
by the Election Commission of India in
October, 2021 for digital mapping of all
polling stations ?
(a) Trishul App

. (b) Chatbot App
(c) Arjun App.

(d) Garuda App

EEST - 06

17, o s feam, 207, * @z 8 Prorff
Y2 v v
1. ¥8 23 Fpaa, 2021 % 5w Ty |
2. vf ol iven & fora s oy |

&w@wiﬂwgg?“
52 .
(ay 1 3 2 2
r\?ﬁﬁu«:
18, v@anﬂﬂwimga&ﬂvﬁ
#ifo | o2
Frerdl # ftn e gegafim 3 «
e a1 |

1.
2. Bt & o 7 ot g iy e v | o
L R R TR s e S—

M) 77 1aado
(d) =2

Hifaw . ;

= bd
(\tﬂﬂgm%«a ) IF 1 el 2 \

() ==t 1 (d) 5= 2 )
19. e, nofmxﬂu@aomg

SRR 39 P o o 7

(a) S R A 1

(b) IeRER WA s
/\@Eﬂ%@??ﬂwﬁ i

(@) Iw F 3 =

B

20, B # & B-w et 2w vauE w R
ITEAH A G AN FAE W & TRE
ﬂ&ﬂgﬂuiwdﬂwgl@z..w

52142\ [y SRR 143
() ¥F=% 140 (d) IR 141

WA % R AW GO SEe, 2021 § wft
wagR w3 1 fefvem A & R Peffea i 2
PR-| W e e @ o y
EW«@ﬂa f\@.ﬂwﬂmﬁn
@FFEW Ty

.5- Y

21.
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The ideal BAS equation PY « npr is used
to model a real gas, The modelling is more
accurate when

(8) Pressure and temperature are high but
molar mass is low

(b) Pressure and molar
temperature is 1oy

(c) Pressure,
are low

mass are high but
temperature and molar mass

.m._.ooo:_dm:an:o_mn mass are low but
lEmperature is high

E.— increase in Pressure, the enthal

of
dry saturated steam ? m
'

ains constant
increases and then decreases
S

‘with a composition of
%, O, = 9.6%, N, = 80%,

is not present in the coal
sufficient

is used

ficient

€e at 900 K is brought in contact
€ mqmﬂ. at 300 K for a short time.
) process 9000 kJ heat is lost by

s

e total mﬁ:_%\a\ ‘ﬁw[w in the

goag. 2222
A% 410
Qo &\ 20l
Z_ ¢0d8
=
= of the above AET =4
ich A,u». the following can be considered a
“of the system ? S
Gt id
J z Q
qa

-

M)scvﬁv “l

26. e e whwm py - nRT g U AREEE

28, ﬁ‘mﬂ#ﬂﬂ Co,

29. % 900 K ¥ I=m W@ W 300 K TR H

et 1 it e v & | afafem e g 2,
L

_u~ﬁ3§§@.£i§
4 7 j

Qdaﬂ_&!guﬁ@.g
4 7
(c) 774, AR o TR ZoENE wE R

A&ﬁgigﬁaﬂagﬁ
=a ;

21, 7R F A e Gy v A e

(a) P = 2 ;

o) TR w S, gl J
(c) w5 2 !
(d) T 2 a.,

& 9z 2

= 104%, O, = 9.6%,
TN, = 80% % A I w2

(a) B2 T g 74 2

(b) 75 F== v

Eﬂ@ﬂﬁ-mﬂﬂiﬂw )
(@) =g = 3

1

TETIEEE T S I 1 Fe Tk TR I
SR 1 78 5 3 S EE T 9000 k)
v dm R 1 v § 5o T A T

(a) 6000 kJ ,

1
L () 18000 kJ ¥
o (c) 9000 kJ
~ @ Ww I
30. Fm 3 3 R = Fom = e v =
-
: 4T, pdV
:\;2,,,;._. +||‘¢.lu
dr _vdp
© [pav
@ [vap a* ,
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S % A adfyn B o Y,
A t gas and internal
Aergy remained the same,

# 300 teJ S e e § e SR I T
o oo Y
ork done on the gas is

#at o Fpm v et 3
0 kJ () 600 kJ
.3 kJ (b) 214.3 kJ
() 150 kJ
(d) 300 kJ

1 volume, During
8 process 300 k. heat jof

mixed with 28 kg of N, at the

. 32kg0, ¥ 28 kg N, % =2 R A R B
perature. The gases are at the A
sure of 1 ATM, before and after "t

iR BER I s @ am AR i 1 ATM
18 universal gas constant in o 7AW R |3 R /el k i
K, the change Emﬂu:.oa of the 3».53%%#?,&
iR
7  fb) 0.341 R
/arﬁv (© 1.386 R
v 5 0.693 R

—-_—

U-235 % frarsa § fmen 72 fa gl A

el 5

s T s A X
(a} 3.69
®) 4.92
© 123
(@) 2.46

bine ?
oling
yeration
eat

ct the correct answer :




or two cycles coupled in series, the topping
yele has an efficiency of 30% and the
ottoming cycle has an efficiency of 20%.
e overall combined eycle efficiency is .
() 38% 4 —00
v i 0.4 9"

06
O.A\ b
o.r—‘

&_ the back pressure of condensing steam
- turbine rises then th
_ turbine will
(a) Remains unaffected

by Firet

he heat rate of stearn_

increases upto a limit and then @
: c

[ TRARE

\ > V6)e

42. e # ot 2w, frall 390 9
30% a0 B r 61 2@ 20% R E
&) g g §
(a) 38%
®) 55%
(©) 50%
(d) 44%

. e R e
\i_a.ﬁ-_ﬁéal.ﬁ
(a) T voh

\)re.ﬂ@ﬁaa 7% agh ®

=~ o) %t
ey A

e B} o S
.m.ﬁﬂmﬂggudwi_
(b) T3 ¥ DBT ¥ WEBT %

(c) 7w ® T F@ a Fem w iea ..
(d) 99 W @ TW T WET !

. W T # v e i ﬁlfé

“




BT - o, P

_r. . - 7 7 42 '

| A7, .?.:m n&h is discharging from | # gt B BY: betwee, ; T

- shown in figure. The v _-5_ the _.__:z.: Lo stationary paaflel | 80, & fer w2 % e 9 T W #
aﬁaﬁﬁ.r

1N 72610

sy sfveer gpa don

(a) T qT
W_S:zzs&»m&ﬂ
3?.»:&13 wftrapan §
() o (=)

) al the baue
) Both at the b and at the t

16 centre

P

vhere velocity s

(a) 50 m/s

Vied \(B) 250 m/s
0m/s Vm N = .. s
S (d) 10m/s

\fwau—o mu

= 2xy, the magnitude of resultant velocity
—2) (in m/sec) is

(m/secH) B
(a) -8

®) 2

() 442

@) 4

ming isothermal condition and air to
1'ideal gas, the variation in mﬁﬁomvrmﬂn
re with height from the law of fluid

wiEds 2 R
; {a) Feardm
) ==
3#%

(Q) IR

vobm:am_

et strikes a stationary plate normally
a velocity of 8 m/s and plate
eriences a force of 120 N. The power

ned in kW is kW R W vf R
(b) 960 () T
d) 7.68 06,
Bl ‘ «&: i

5

B
L

(b) 960
d) 7.68

e

06

oy

51. o% _Sagiﬂas&a& 53?5%
T A werm = ) v )25 %l % nfew
e % for wdm S d A e i

52, Ay = 2%y, W2, -m_ﬁaﬂ..i.maa_%z

53. FEaME Bl w0 Ay B e oA A,
ﬁ%w«&w%ﬂawﬂ%mﬂnﬂ&naﬂ

54. T R TH R < W o= m.&uw?w
TR FE § 991 W W 120 N F1 96 @ &)




i ‘ -
Vs 7 G =5
) r r @ \\r \N\v\\v\ - \
/ s e \o EEST -
el 3 p 3 rd %
tonia i velo " : g T o) y[, ., Ce vectio j ﬂ Iu
fluid has the following vel g . _.w;sas;_\ \ n| 50, wAp Az TR |K=-06 &1!’ o

¥ A v ¥ arofof
= S S i b \ . \ i o 20 U | e PG ¥ 173 Sy ek 0.65 M
v=xyi+2xy’z j-yz'k > , 5 I.E»un.ﬂ”:. 6 ength at 110 volt 3o i s AndEE W X —
. R iz » z SUriace 1+ S
dﬁ?« rate of shear deformation at (-2, -1, 2) | ¥ W e " 6 Ber temper s, ire 30°C T 120°C A e = avme 3sec b o2 \
r v § fber based o f Nusseit s s 3352 dom 6 %, 7 £ & =i

|
g through the y 0. current § G um 2
6 A P L [ n\‘\u\m\! .,“:\a 6 A
B A 1071 ‘\,‘ ¥ el b} 58 A
3.2 A
)37 A

r‘“\

-
-
.
[
4
-
N\

| Blectric heate,

2 A
7 A

ion in gases is due to 56.

B tirbine, hot exhaust gases are 1sed | 60 s zama & of Gmm A = W
ing motion of different layers: e 1 airir

BRE the compressed air in 2 compact he _ﬂ =g Btuta, ff) wadltem 08 %,
PAnger with cffectivencss 08 Whatisthe | SEign amy 5w w01 % B e B 7L

- ,.. 2R ,f.T g g ™ “
¢ i : : U c= 2o s
‘ 5 18 2/ A (b) 16 fa % {a) ) 16
- { D \\Uo\n U\_Jw\ a2

[
(d) TR v
4

€
.

s .. npact of molecules }

vn.u‘

“,.,.v g @ otion of electrons ¥ gl <
»,n 4 Y u.' unter flow heat exch anger, hot gases | 61. &5 Fvm = 7= vgm i S 250°C
i fat 250°C and leave at 100°C. Cooling _ = 53m 550 2 7 100°C W St 1 Wil
Miters at 50°C and leaves at 80°C. The | ﬂmwcun.ﬂmmu.ﬁjmwﬂﬂ.gvﬂﬂvﬂm‘.w
,,....- eness of heat exchanger will be # s=n B5=ta © adem e
.33 o] 0.75 # fa) 0.33 ) 0.75
0.2+ (d) 0.25 | (c} 0.2 € 025

B 57, .ﬁ.lrnnvngaggr |- BZ. 4 2
‘The curve for unsteady state heating and |\ {4z 3

: .m-l..,n_i_,. jies with Bi < 0.1s v
RS W =
ponential curve and uh.ﬁu—ugo to

QC

e ,,,..... factorsF.,andF .mUn”w.rwn.wawv” 62. Wmmﬂuﬂdan%w*gﬁ.ﬂﬂa

, ..aﬁ«a&ﬁmr ,u,..P.Sw:,.a wﬂﬂzﬁwwwwiualwsams
&t BWn in figure, respectively are =2

, J—

‘

\




63. Ina laminar flow of Air (Pr=0.7) flows o

ngg.—ssngﬁ

8, are hydrodynamic and thermal boun

(o o

L G7. A7 35°C % g wew T A 20°C ¥ SEiw
e 25*C W wh f o R AR XL
w0 aret wfem % "

passes :‘:‘\:W—J
; The process
)\ ne 18

& eling and humidif

layer thicknesses respectively, then cation (a) e T Sfwm iael

! ; . (b) Frewd 71 Srpren s e R Ty

w / lg ®) mlovﬂnﬂqtﬁ umidification .ﬁ.%ﬁﬂﬂg% .“.un.A
iﬁ%ﬁq @ 8>3, insible cooling ) S Pete

a8 —ursnn_gr _::;:.:._:

\ .\ 5 — H,0 absorption re friger
unnB

. Dvo:q compression refrigeration,

,...%mnnn.

) Steam jet refrigeration system

N o_..m of the above

68, T UF iEE B =0 8 g o R
(a) NH, - H,0 S wefod 1 §
(o) A sk s %

( ,nzwwn%ﬂqrm
.Mmiﬂmwmgmi

60. Wite WAt 1 Cop 1 3o § e

ation

e of el ; icable - OP of domestic air ¢ onditioner as compared
PE Omv of domestic refrigerator is

. aAagpea® w1 COP
65. Twa plates spaced 150 mm apai . same (b) unpredictable (a) FOST zm (o) % Bam
”ngﬂ”“” m_w-o."ov-“”ﬁu-—w o 1 "% SR . y g y lower (d) higher 5 M.H.WH— (@) s &
iﬁ%ﬁ&g 4 . 4 b ( h CL_OQQ of steam at exit from the nozzle | 70. , Wﬂw?ﬂnﬂgmﬁwg
¢ convection \w Sing/motive steam for &jector is MH” = 3 a2
| supersonic . “ (a) S
" E,m.z be subsonic or supersonic, any (b) 3 @ uﬁ.ﬂ_huﬁ T W, B W
..%mddmo:mn (c) FEE=
(d) =

igerant which is the most ::vQEn
b los

—

71, Wi <t B 39 1§ waifus geede R
@ R-22
) R-12
(© R-T17
dR-11

E‘»wssgmwwro,
(b) A is false but R is true

ddﬁ
dideal refrigerating machine works
ween 45°C and -8°C temperature limits.

72. T WES TR 45°C 71 -8°C F W S
wa ¥ | wf T Haed vq s, v

.3 Wonr>nua R are ooua o L : ‘power required per ton of refrigeration Wi w )
A . A ; . /o.,w 3 Fm.w ptw er 0.7
e i \ \ ; o) 1.0 (@) 1.2




\@/r\dw.

A stream of moist air with DBT = 40! 2
DPT = 25°C, passes through a water
which is maintained at 20°C. The air st

will undergo a process of

%mnw and humidification
(b) cooling and dehumidification
(c) sensible ooomn-

gimost significant
I'7 as refriger:

advantage st

: _,

Bolubility in water ,
|
|

icharacteristic smell

igh latent heat

gpour compression refrigeration system,
effect of liquid refrigerant under cooling

EEST - 06

s ar % wgvm wyefmon afiem §, wEE
1 o Fra e 2 h% v

(&) DPT
o s poe
) RH ?’L/V/\ \5/1 \&.
gt ( Jon” WY
() WBT ay” P
s 7 G
7% 3y e, Fehy zaa 70% %, araraceia .
2 % e W arCA e T R
A7, % e R + e 114
174 %1 40 qow amae (WeT) B & 1
(@) 26 °C &) 27C FU-A
{c) 24 °C (d) 25°C
R.717 F e F w0 § W T

(a) ST T R 2

x..H.mQCom refrigerating effect Rl it N & 'y
) in€feasc the vapour superheat , (o} 1 T 1
ee COP / (c} COP F&a ®
zease COP : (@) cCor s@m 2 ’ ]
’ .., , g -
U Coleman cycle is 81. UH AT-DIAA Wb &
ersed Otto cycle (a) 3T FA TH
) Reversed Rankine cycle & (o) 370 T =
e wersed Carnot cycle en = o\ﬂ (c) 3= FEE T
f'Reversed Joule cycle @ e (d) I I B
ww room RTH = 100 kW, RSHF = 0,75, | 82. W & % f§#l RTH = 100 kW, RSHF SONS,
Mime flow rate of air is 100 m3/min and g AT F9E & = 100 m? /min T g
humidity ratio = 0.01 kg/kg d.a. What A = 0,01 kg/kgd.a.l e g =t Gl
Wpply air humidity ratio (kg/kg) ﬁdﬂ fka/kg) 7R ? X
7005 (b) 0.0025 .»QE 0.005 {b) 0.0025
.010 (d) 0.0075 1 W (g)0.010 (@) 0.0075
) < Y Sy :
W 7 {
L\ R h _

..’ {




R % @O.U ;
EEST
g to Blagiyg solut 3 ;
coefficient ir, (1 g 87wz Wz % Fw hed e # ey T
 plate is giver, 1, v ayer ovet. AT e 3t i i P % g
664 Frsfra g 3
(b) 1,328 0.664 1.328
Re/2 (a) 'ﬂv il by =222
€0.332 p Re/5 Re’?
, (d) =084 C (¢ 9332z (@) 0664
xo\\ Nﬂ.n ﬂUu
—”M_M:.S Mm:___m_ planes of same cmissivity | 88, WM FeEdmat 0.5 1 A FHa AN wak
and exchangi p 1 o
diation wzm_%w__:mﬂ”wm_w_\,mmm_%oﬂ fiferms 7 o e R A Y R0 ()
-4 e Dy 1 4,
i Detween them, the heat trangfer - T #) fafte 7w o R
e O 7 @ e = R A
0w OuT 13
o1 30% I (b} 30% ‘
£ 2 #
(d) 25% &a- 1 msue‘\. @ 25% / i
, & £
ntify the correct expression for Stanton 89. VA T (St F o0 o wam B wEE = | M?m
ber (St). |
Gr.Pr (a) Gr.Pr : ¥
Gr or .
Re” ®) R 5
ol fe) mu:?
(d) Re.Pr
fleat loss from a fin is 6 W. The'| 90. %13 3=n = 5 6 w i Rt wiicvm
Veness and efficiency of the fin are 3 T TEA AW 33 0.75 “i’
0.75 respectively. The heat loss from e N 3 AT /]
w ) ¥ R, afe e 4_“ ,
(in W) keeping the entire fin surface { MM A 1 |
(o ﬁnanamF_mﬁ is .J\ & GV 14 1 -4 :
T T net = -
7 Q> (a) 135 = o
1 4> () 18 -
= < N =
W \ (©) 6
Quar=¢ (d) 8
ciprocity theorem is 91. YRESTEhal 1 W ]
F., = a) AF)y = AFy,
m.,S 7 >_mn_ {
E., = €,F,, () &,F 3 = ¢5Fy,
12
= F,, () Fyy = Fy
(d) ARy = Ay,
= Ay J 5 S
21 :
0/




)\ - \N\uoﬁru‘.
\/ A0 af ) “a’

» \x ,
4/ 9 e
Imp raises presq, . of & \® & @& :
sumﬂ: ::, dens .1_ - o) 96. U% T W 74 %) 2% | 49 @ 30 AR 7% wgal
Bkg/m? the inep,, opic "

) T - 06

?m auif

% % 7w T 990 kg md Y, W wwpdt
w1 8 fm v ol ) eg AR

(a) 2.50

) 2.93

(€) 0.1

)03

ump delivers 50 L/Sec of water and

£ 97. T 7.5 W ) w9 50 L/Sec
ERtes 7.5 kW of Power. The head

TR 2 1 e g e Y

[

ﬁw oped by the pump ig

.53 m 0. ﬁ:oﬁ,\, ,\Q\ ' ol (a) ~.ﬂv5
{532 m ' \\_\\X\v (b) 1832 m
SN o
§8.0 m \ %o (d) 0 m

\\v\w

E8sure drag results dye to

98, Z@ W B % v A R ,

tence of stagnation point in front of

3. .an Egnunluz omo. thermocou

o (a) 72 % 7 fim e B ER R P
Oun* T, 3 g P i 4 y , : . high Reynold’s number ?_wﬂﬂga*ﬂﬂl O K WW
I.n‘.—ﬂ— o m % (a) 1 - 063.- J MATN P!
ge e o , 3 4 5 » ] \o:dwco: of wake (c) TrEEA T F W
§ (b) mo-suﬂ.mog of initial temp 3 50% i ) .w [ E_NaESS in the wake (d) Tra | gE F =
(¢) To attain 99% of initial temp g .

a fully developed flow of water in a pipe
g diameter of 10 cm, velocity 0.1 m/s

99. TF 10 cm =W T TS A o & i Rl
s ﬁawﬂwﬁo_a\uﬂ.ﬂ?g

matic viscosity 10~° m?/s, the value
D2 rey’s friction factor is 10°% B»\ww_ Tl i 3 .‘Iﬂu&r
- 4 / (a) 0.032

.032 be = 7y Ry - #
90.064 cmﬁu./x (o) 0.064 —

.008 2" ) (©) 0.008 4

1:.. 016 {d) 0.016 g\
(=

L
ie"Stagnation and static temperatures of | 100. Th @S W &1 I TR TEHE wAfes

wing air at a section are 400 K and 200 K AR FE: 400 K 79 200 K &) e e}
pectively. The Mach number is

\
(@) 2.236 %ﬁé =
3 ) 3.211 xx\\
R (c) 1.046 , pr
> i J\‘ >
(d) 1.246 @Pio bl
L




ol
i 150 (

. hear streqs ;?\3_:::,_ when |

of viscosity o S5 ) Tubric iting

21 poige ig filleq betweer

: S ‘twee

, arallel plate, I em apart and mowi ¢

,.,.._.n_m:,a velocity 5 m/s ig ; E_:m

29.62 Pa w oy 3

- 0991 X P

40 Pa \\«Nﬁ\

Vs

ases when

\. r is cooled at exit
ir is heated a¢ exit
ir is heated at entry
| Air is cooled at entry

i
R

ar plate s submerged vertice
%Sﬁjnaa and lea

e m

A et R

moderator yseq ina

fast breeder
actor is

) Liquid sodium

Sraphite

A
(€) Beryllium oxide

None of the above

3 row.velocity compounded steam turbine
idevelops total power of 6400 kW. What is the
developed by théTast row ? A~

0
(e
2

For maximum transmission of power
hirough a pipeline with total head H, the
éad lost due to friction is given b

1

1

1

0

105. 7 guw w5

B

07.

8.

’

forr g 9.81 g8 ¥ w1
.Edﬂwﬂndu lem ﬂoﬂ?ugni\o
% Ty 1 4 w= @ 2, 7@ FwE wiee
(a) 22.62 Pa %
(b) 40 Pa

(c) 20 Pa

(d) 1962 Pa

/.VX/

\

T 7 v 2 A S et el
ot v il w2 a3,
(2) 773 Frrm w 36 9 &

(b) 773 | vl et 2

fe) 9 s o kv

(@) 97 T W EH A

wfifex =

= d g e
Fades A

(a) 73 Sifeam

(b) ATERZ

(c) FfeTm
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